[bookmark: _GoBack]Farmer Brown 
	Grade Level:  1


	Mathematics Domain and Cluster:
Number and Operations in Base Ten
· Use place value understanding and properties to add and subtract
· Extend the counting sequence
· Understand place value

	Common Core standard(s) being assessed (if the task is intended to assess only one part of the standard, underline that part of the standard):

· 1.NBT.4 :  Add within 100, including adding a two-digit number and a one-digit number, and adding a two-digit and a multiple of 10, using concrete models or drawings and strategies based on place value, properties of operations, and/or the relationship between addition and subtraction; relate the strategy to a written method and explain the reasoning used.  Understand that in adding two-digit numbers, one adds tens and tens, ones and ones; and sometimes it is necessary to compose a ten.

· 1.NBT. 1:  Count to 120, starting at any number less than 120.  In this range, read and write numerals and represent a number of objects with a written numeral.

· 1.NBT. 2: Understand that the two digits of a two-digit number represent amounts of tens and ones.  Understand the following as special cases:
a. 10 can be thought of as a bundle of ten ones – called a “ten.”
b.  The numbers from 11 to 19 are composed of a ten and one, two, three, four, five, six, seven, eight, or nine ones.
c. The numbers 10, 20, 30, 40, 40, 50, 60, 70, 80, 90 refer to one, two, three, four, five, six, seven, eight, or nine tens (and 0 ones).

· 1.NBT.6: Subtract multiples of 10 in the range 10-90 from multiples of 10 in the range 10-90 (positive or zero differences), using concrete models or drawings and strategies based on place value, properties of operations, and/or the relationship between addition and subtraction; relate the strategy to a written method and explain the reasoning used.



	Student Materials:
· Pencil
· Student assessment
· Manipulatives to use to solve (if needed) Ex: unifix cubes, link cubes, counters, etc.



	Teacher Materials:  




	Directions (for teacher to administer assessment task):
· Read and explain the various parts to the task.
· Tell students to see the teacher if there are questions.
Teacher Notes:  
· This assessment may take more than one math block to administer.

	Prompt:
 Part 1:
  1.  Help Farmer Brown count how many vegetables he picked from his two fields.  
  2.  First, count how many carrots he picked from field A and answer the questions. 
       When you count, you need to count by 10’s and circle in groups of 10.
Part 2:
  3.  Then count how many ears of corn he picked from field B and answer the questions.
       When you count, you need to count by 10’s and circle in groups of 10.
Part 3:
  4.  The next part is to answer the question, “How many vegetables did Farmer Brown pick altogether?”  Show how you solved this problem.
Part 4:
5.    Remember how many ears of corn Farmer Brown picked?  Well, he picked 20 more.  You will need to figure out how many he has now and explain how you figured it out.
Part 5:
6.    For the last part, Farmer Brown now has 50 carrots.  If some were rotten and he threw 10 carrots away, how many would he have now?  You need to figure this out and show how you solved this problem.


	Correct or Model Answer:

Part 1:  42 carrots                4 tens  2 ones

Part 2:  22 ears of corn        2 tens   2 ones

Part 3:  64 vegetables  
              *Various strategies will be used to solve

Part 4:  42 carrots (22 + 20 = 42)
               *Various strategies will be used to solve

Part 5:  40 ears of corn (50 - 10 = 40)
               *Various strategies will be used to solve





	Scoring Guide/Rubric (a score should be awarded for each criterion below)

	Criteria (CCSS code)
	0 points
	1 Point
	2 Point

	Count and write numerals up to 120.
1.NBT.1
	Unable to count and write numerals.
	Count and write numerals with minor errors.
	Count and write numerals accurately.

	Represent a bundle of tens.
1.NBT.2
	Unable to represent a bundle of tens.
	Able to represent a bundle of tens with minor errors.
	Able to represent a bundle of tens accurately.

	Represent a 2-digit number into tens and ones.
1.NBT.2
	Unable to represent a 2-digit number into tens and ones.
	Able to represent a 2-digit number into tens and ones with minor errors.
	Able to represent a 2-digit number into tens and ones accurately.

	Add two 2-digit numbers.
1.NBT.4
	Unable to add two 2-digit numbers.
	Able to add two 2-digit numbers with minor errors.
	Able to add two 2-digit numbers accurately.

	Add a 2-digit number and a multiple of 10.

1.NBT.4
	Unable to add a 2-digit number and a multiple of 10.
	Able to add a 2-digit number and a multiple of 10 with minor errors.
	Able to add a 2-digit number and a multiple of 10 accurately.

	Student able to subtract a multiple of 10 from a multiple of 10 in the range of 10-90
1.NBT.6
	Unable to subtract a multiple of 10.
	Able to subtract a multiple of 10 with minor errors.
	Able to subtract a multiple of 10 accurately.


                                                         




























Farmer Brown Performance Task (1.NBT.4)

Name:_____________________________                           Date:_____________________

Help Farmer Brown count the vegetables he has picked from his two fields.

Part 1:
Count the carrots.  Circle in groups of 10.  



       

               

          
         How many carrots did Farmer Brown pick?   ______ carrots

       How many tens and ones is that?  _____tens    _____ones



CCSS Mathematics Assessment Task
   
Part 2:
Count the ears of corn.  Circle in groups of 10.
  
                                                               
          

How many ears of corn did Farmer Brown pick?
  
                  ______ ears of corn

How many tens and ones is that?  ______ tens   _____ ones

   
                                         
Part 3:
How many vegetables did Farmer Brown pick altogether?
Show your thinking.












Part 4:
Farmer Brown has 22 ears of corn.  If Farmer Brown picked 20 more ears of corn, how many ears of corn would he have?   

             ______

How did you figure it out?









Part 5:
Farmer Brown has 50 carrots.  Oh, no!  He found some rotten carrots.  He threw away 10 carrots.  How many does he have now? ________

How did you figure it out?
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